Study the box

Grammar

Affirmative Negative

He was wearing The bus wasn’t going
weird clothes. fast.

They were standing | They weren’t wearing
in the street. weird clothes.

Yes/No questions Short answers

Was he wearing a Yes, he was.
hat? No, he wasn’t.

Were they wearing | Yes, they were.
weird clothes? No, they weren’t.

Practice

5 Lookat the pictures. Why didn't they answer
the phone yesterday evening? Ask and answer

questions.
1 Lisa/watch/TV

A: Was Lisa watching TV?
B: No, she wasn't, She was listening to music

2 Dad/cook/dinner?

3 Mum/work/on the computer?

4 Peter/do/his homework?

5 Grandma/play/the drums?




